Name:_____Solutions______

FE345:  ENVIRONMENTAL ECONOMICS




Assignment 6: Due Monday 10/29/12
· Make sure you show your work and that ALL answers are complete and neatly written.

· Make sure your name is on the front page and all pages are stapled together.

· Only work that follows these instructions and represents a “Good Faith Effort” to answer the questions posed will receive a check. (Copying answers from a classmate without working through the problems is unacceptable conduct).
· Stop by during my office hours (Tuesdays periods 9, 10) if you have questions, or set up another time to meet with me.
Answer the following:

1. Assume that a society is composed of two polluters, with the marginal abatement costs, respectively, equal to
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a) What is the unregulated level of pollution for each polluter?
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b) Find the individual and total level of emissions that would be generated if a per-unit pollution tax of $4 were imposed.
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c) Find the equilibrium market price of a pollution permit if pollution is limited by a permit system to 18 units.
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 You can also find the market MAC, and plug in E=18.
d) Find the total abatement costs for each firm and for society under the permit system in part (c).
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e) Find the total abatement costs for each firm and for society if a regulation is imposed requiring each firm to reduce emissions by 3 units from the unregulated levels.
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f) Compare and comment on your answers to (d) and (e) above.
Both result in a total level of emissions of 18 units, but the regulation in (e) results in higher total abatement costs ($13.50) compared to the permit system in (d) ($12). This is consistent with the theory that the same level of pollution reduction can be achieved at lower cost to society with economic incentives compared to command and control regulation.
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